
 1 KM3_8740 

mRrj izns’k v/khuLFk lsok p;u vk;ksx] y[kuÅ 
izkjfEHkd vgZrk ijh{kk (PET)&2023

उ�र कंुजी

 
           

1.   ,                

      ?

 

Prashasti of Samudragupta in the form of a poem in Sanskrit was composed by which 

poet that was inscribed on the Ashokan pillar at Allahabad ? 

Harishena

2.      ,         ?

   

Khizr Khan was a ruler of Delhi, belonged to which of the following dynasties ? 

Sayyid Dynasty 

3.         1800       ?

   

By whom the Fort William College located at Kolkata was founded in year 1800 ? 

Richard Wellesley

4.                ?

  

Which of the following was the first Harappan site excavated in Independent India ? 

Ropar 

5.                 

 1500                  ?

,  

The teachings of Mahavira and his followers were transmitted orally for several 

centuries, they were written down about 1500 years ago, presently those are available at 

which of the following places ? 

Valabhi, Gujarat

QP Set – KM3 QP Code – 8740 
परी�ा ितिथ : 28.10.2023

(ि�तीय पाली) 



KM3_8740 2 

6.                :

(i)     (a) 1921

(ii)     

 

(b) 1918

(iii)    

 

(c) 1946

(iv)    

 

(d) 1928

Match the following events of the Indian National Movement with the year they had 

taken place : 

(i) Peasant movement in

Bardoli

(a) 1921

(ii) Mahatma Gandhi visited

Noakhali

(b) 1918

(iii) Gandhiji began wearing

a loincloth

(c) 1946

(iv) Mill workers strike in

Ahmedabad

(d) 1928

(i)-(d), (ii)-(c), (iii)-(a), (iv)-(b) 

7.   , 1935             

   ,     ,  -     

    , 1935  ________ 

  , 1935 

The Government of India Act, 1935 was the longest Act passed by the British 

Parliament for India. The Act originally passed, being very lengthy, was divided into 

two separate acts namely, the Government of India Act, 1935 and ________. 

Government of Burma Act, 1935 

8.                 (   ) 

   ,           ?

  

The partition of Bengal infuriated people all over India and Swadeshi Movement had 

taken place in deltaic Andhra, it was known by which of the following names ? 

Vandemataram Movement
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9.  1922               

           ?

 

After suspending the Non-Cooperation movement in the year 1922, Gandhiji was 

arrested at Ahmedabad and sentenced to simple imprisonment for how many years ? 

Six

10. 13 , 1943              ?

  

Subhash Chandra Bose had come to East Asia on an invitation from which of the 

following on June 13, 1943 ? 

Rasbihari Bose

11.               ?

  () 

Which part of the Himalayas is composed of unconsolidated sediments brought down 

by rivers ? 

The Shiwalik Range

12.     “ () ”     ?

  

Which of the following is also called “Brown Coal” ? 

Lignite

13.                 ,     

 

  ( ) 

All the space between particles of soil and gaps between rocks are filled with water, the 

upper limit of this layer is called : 

Water Table

14. -                    “-

”      ?

  ( ) 

El-Nino is the complex weather system that appears once every three to seven years. 

Here what is the meaning of the word El-Nino ? 

Child Christ
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15.       250  (820 )            
       ? 

      

 Which of the following desert contains large sand dunes up to 250 metres (820 feet) 
high and the largest contiguous area of sandy desert on Earth ? 

  The Rub al Khali Desert 

16.         ()      ? 

  ,  

 Where was the first Export Processing Zone (EPZ) of Asia set up in India ? 

  Kandla, Gujarat 

17.            ,     
 ‘,   ’             
 ? 

   
 Which edition of the Five-Year Plan aimed at accelerating food grain production, 

increasing employment opportunities & raising productivity with focus on ‘food, work 
& productivity’ and that was very successful ? 

  Seventh 

18.     “    ”  ? 

  .  
 Who among the following was “the father of Indian Economic planning” ? 

  M. Visvesvaraya 

19.     ,      18        
                  
  ? 

   

 During its first phase, Operation Flood linked 18 of India’s premier milksheds with 
consumers in India’s four major metropolitan cities. Which of the following cities was 
not the part of this operation ? 

  Bengaluru 

20.                   
       ? 

  -  
 Which salient feature of GST allows the seamless flow of credits and reduces the tax 

burden on the end consumer ? 

  Destination-based Tax 
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21.                ,  

        ? 

    

 On which of the following matters Union Legislature alone has the power to legislate that is 

known as Residuary Powers ? 

  Cyber Laws 

22.          ? 

    

 Who was the first Chief Election Commissioner of Independent India ? 

  Sukumar Sen 

23.   , 1976    ()         

         ? 

   II 

 Which chapter of the Equal Remuneration Act, 1976 contains payment of remuneration at 

equal rates to men and women workers and other matters ? 

  Chapter II 

24.           “       
;        ?” 

   175 

 Which article of the Indian Constitution includes that “The Governor may address the 

Legislative Assembly; the Governor may send messages to the House” ? 

  Article 175  

25.             ,   
          ? 

      

 Which of the following provides a comprehensive database of orders, judgements and 

case details of District and Subordinate Courts and High Courts ? 

  National Judicial Data Grid 

26.                ? 

   

 Which of the following animals possesses a well-developed water vascular system ? 

  Starfish 
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27.               ?

    

The resistance of a conductor does not depend on which of the following factors ? 

Humidity of the conductor 

28.             ?

   

Which of the following acids is found in Unripe Mangoes ? 

Tartaric Acid

29.                  
         ?

 

Which of the following instruments is used to measure underground water pressure and 
to take water sample for water quality testing ? 

Piezometer 

30.                    ?

 

The gap between two neurons in the Human Brain is known by which of the following 
name ? 

Synapse 

31.      :

Find the sum of the following :

72

1

56

1

42

1

30

1

20

1

12

1

6

1

9

1


1
2

32. x     ,  









189

)(

21

)( xx
= 1   ? 

For what value of x, statement 









189

)(

21

)( xx
= 1 is correct ? 

63

33. (81)–1  3–5  39  (64)5/6  
63 )3( = ?

288
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34. (0.0203  2.92) / (0.0073  14.5  0.7) =  ? 

  0.8 

35.    ,   55     62          
            50     60   
           58           
    ,           ? 

  57  

 In Geeta’s opinion, her weight is greater than 55 kg but less than 62 kg. Geeta’s mother 
does not agree with Geeta and she thinks that Geeta’s weight is greater than 50 kg but less 
than 60 kg. Her brother’s view is that her weight can’t be greater than 58 kg. If all of them 
are correct in their estimation, what is the average of different probable weights of Geeta ? 

  57 kg 

36.  +         ? 

   

37.         ‘’     ? 

  , ,  

38.               ? 

     -  

39. ‘    ’ -      ? 

       

40.               ? 

    -  

41. A person who has an obsessive wish to steal. 
  kleptomaniac 

42. Fill in the blank with correct preposition : 

 Virat plays Cricket ________ Football. 
  besides 

43. Put the correct article : 

 ________ President of the United States will be in Bharat next week. 
  The 
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Read the following paragraph and answer the following questions : (Q. 44 and 45) 
 

The State Emblem is an adaptation of the Lion Capital of Asoka at Sarnath. In the original, 
there are four lions, mounted back-to-back, on a circular abacus, which itself rests on a bell-
shaped lotus. The frieze of the abacus has sculptures in high relief of an elephant, a galloping 
horse, a bull and a lion separated by intervening Dharma Chakras. The profile of the Lion 
Capital showing three lions mounted on the abacus with a Dharma Chakra in the centre, a 
bull on the right and a galloping horse on the left, and outlines of Dharma Chakras on the 
extreme right and left was adopted as the State Emblem of India on January 26, 1950. The 
bell-shaped lotus was omitted. The motto Satyameva Jayate, which means ‘Truth Alone 
Triumphs’, written in Devanagari script below the profile of the Lion Capital is part of the 
State Emblem of India. 

44. Which of the following animals is not included in national emblem ? 
  Tiger 

45. What is in the centre of national emblem ? 
  Dharma Chakra 

46. 10:25           

 The reflex angle between the hands of a clock at 10:25 is 
  197½ 

47.      : 

 Pick the odd one out : 
  161, 207, 299, 347 

48.               ,        
                       
   ? 

      13     

 Fifteen children are standing in a row facing north. Saurav is to the immediate left of 
Radha and is eighth from the left end. Bimal is second from the right end. Which of the 
following statements is not true ? 

  Bimal is 13th from the left end. 

49.     ,            ,     
,      ,      ? 

   

 Chennai is bigger than Jaipur, Surat is bigger than Kolkata. Raipur is not as big as 
Jaipur, but is bigger than Surat, Kolkata is not as big as Surat, which is the smallest ? 

  Kolkata 
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50.      I  II                  

                      

                     

       

  : 

 I.                     

   

 II.                    

     I  II       

 In this question two statements I and II are given. These statements may be either 

independent causes or may be effects of independent causes or a common cause. One 

of these statements may be the effect of the other statement. Read both the statements 

and decide which of the following answer choice correctly depicts the relationship 

between these two statements. 

 Statements : 

 I. The Meteorological Department has issued a statement mentioning deficient 

rainfall during monsoon in many parts of the country. 

 II. The Government has lowered the revised estimated GDP growth from the level of 

earlier estimates. 

  If both the statements I and II are effects of independent causes. 

51.     (    )        

  -2023  UPI        ? 

   

 National Payments Corporation of India (NPCI) has unveiled Credit Line on UPI at 

the Global Fintech Fest-2023 at which of the following places ? 

  Mumbai 

52.   ,               

    ? 

          

 Recently, Akhil Bharatiya Shiksha Samagam had been organized by which of the following 

ministries of Government of India ? 

  Ministry of Education and Ministry of Skill Development & Entrepreneurship 
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53.                    
   “”    ? 

     
 Who among the following has recently launched a mobile application “Floodwatch” to provide 

Real-Time Flood Forecasts to Public ? 

  Shri Kushvinder Vohra 

54.   ,                 
     ? 

    

 Recently, President Draupadi Murmu has unveiled Mahatma Gandhi’s statue at which of the 
following places near Rajghat ? 

  Gandhi Darshan 

55.   ,    ()            
                    
      ? 

    
 Recently, Border Roads Organisation (BRO) has commenced the construction of the 

World’s Highest Motorable Road close to eastern Ladakh. Which of the following is 
the World’s Highest Motorable Road presently ? 

  Umlingla Pass 

56.          -       ? 

    ,  
 Which of the following organization has recently launched Eklavya – A Research 

Affiliate Programme ? 

  The National Law University, Delhi  

57.        ,    -    
“ ”    ? 

  .    

 Who among the following has recently received “Yashaswi Samman” at Kathmandu-
Kalinga Literary Festival organised at Lalitpur, Nepal ? 

  Dr. Madhav Prasad Pokhrel 

58.           (BRICS)       ? 

   
 Which of the following countries has not become recent new member of BRICS ? 

  Cuba 
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59.       ICCR    , ICCR      ? 

       

 The Bank of Israel has recently joined the ICCR, what is the full form of ICCR ? 

  International Committee on Credit Reporting 

60.                    

()          ? 

  ,  

 The Kingdom of Saudi Arabia has signed the Instrument of Accession to the Treaty of 

Amity and Cooperation in Southeast Asia (TAC) at which of the following places ? 

  Jakarta, Indonesia  

61.         /            

   15       

    

 Name the day that is celebrated every year on 15th September in India to promote the 

habit of thrift among the students in schools/colleges. 

  Sanchayika Day 

62.                ? 

   

 Which of the following is the official language of India’s first planned modern city ? 

  English 

63.        ,          

  ? 

    ()  

 The only instance when the President of India exercised his power of veto related to 

which of the following ? 

  Indian Post-Office (Amendment) Bill 

64.                 

 ? 

   

 Khashaba Dadasaheb Jadhav had become the first Indian to win an Olympic medal in 

which of the following sports ? 

  Wrestling  
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65.      ()         ? 

   

 Where the conference for establishment of the Organisation of the Petroleum Exporting 

Countries (OPEC) had taken place ? 

  Baghdad 

66.         “  -”     ? 

    

 Which one of the following Indian Freedom Fighter had written a book named “Hints 

for Self-Culture” ? 

  Lala Har Dayal  

67.                

    

 Give name of the strait which connects the Java sea to the Indian ocean. 

  Strait of Sunda 

68.    ,           _______    

    

   

 According to Rishi Manu, the tract between the old sacred rivers Sarswati and 

Drishdvati was known as ___. 

  Brahmavarta  

69.  -  (NIO)          ? 

   ,   

 The National Institute of Oceanography (NIO) is having its headquarters at which of 

the following places ? 

  Dona Paula, Goa 

70.                    

 (Wall Murals)      , “”   __________   

     

 Wall Murals only painted by Men commonly in the Chhotaudepur area of Gujarat as 

offerings to Pithora. Here, “Pithora” means ____________. 

  God of Food Grains  
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          : (. 71-75) 
 

                       

 -   -               -  

;   ,  -         , 

,               ,      , 

                -     

          -          -

                 

                      , 

“        ,   -     -    

 ,      ,           

         ”    ---     

                     

 -     ,                 

                        

     

71.    -         

       -        

72.           ? 

            

73.      ? 

          

74. ‘’    ,      ? 

   +  +  

75. ‘         -        ’ 

    

    
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          : (. 76-80) 

 

    :  --             

          ,          

                      

                             

        ,           

                       

                        

          ,          

  ,                      

             -       ,  

          ,            

              ,        -

,                    

                          

                       

      -            

76.                ? 

                  

77.         ? 

                     

78.        ? 

            

79.         ? 

                   

80. ‘’       ? 

   
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(. 81-85) :                : 

(Q. 81-85) : The following graph shows the time taken by different people to complete the work : 

 
 

81.                  ? 

  80/29  

 What is the total time taken to complete the work if all of them work together ? 

  80/29 days 

82.                ? 

     

 Which of the following groups take minimum time to complete the work ? 

  Chaman and Ramesh 

83. ,                    

                  ? 

  20  

 Sneha is twice as efficient as Kailash and together they do the same work in as much 
time as taken by Chaman and Axay together. In how many days Kailash can complete 

the work individually ? 

  20 days 

84. 5                   5      

,            ? 

  15  

 After working for 5 days Rakesh is joined by Axay. If they complete the remaining work in 5 

more days, in how many days can Axay alone complete the work ? 

  15 days 
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85.                       

     5              ` 3,000    

       ? 

 Chaman and Axay started the work jointly. A few days later Mihir also joined them and thus 

all of them completed the whole work in 5 days. All of them were paid total ` 3,000. What is 

the share of Mihir ? 

  ` 750 

(. 86-90) :         ()  ,       

                  : 

(Q. 86-90) : Given bar graph shows the percentage of jobs held by peoples of India, Afghanistan 

and Nepal in the Gulf over the different years. Study the bar graph and answer the following 

questions : 

 
 

86.   2018  2021         3:5   2021   

()    4400 ,   2018   ()          

 If the ratio of the total persons who are doing their jobs in the year 2018 and 2021 is 

3:5 and the total Indians in the Gulf in 2021 are 4400, then find the total Nepal people 

in the year 2018 in Gulf. 

  1680 

87.   2019   ()       2022   ()   

     ,      ()          

 If total Indians in Gulf in the year 2019 are equal to the total Afghanistan people in 

Gulf in the year 2022, then find the ratio of Nepal people in Gulf in the respective 

years. 

  1 : 5 
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88.  2020    2021           2020    5775 
,      2020     2021              
  

 If total persons in 2020 are three times the total Nepal people in 2021 and also the total 
Indians in the year 2020 are 5775, then find that the total Indians in the year 2020 are 
how much percent more than the total Nepal people in the year 2021. 

  5% 

89.   2018        2340    2018  2019  
     45:88 ,   2018  2019    ()  
       

 If the total Afghanistan people in the year 2018 are 2340 and ratio of Afghanistan 
people in the years 2018 and 2019 is 45:88, then find the total number of persons in the 
Gulf in the years 2018 and 2019 together. 

  20800 

90.  2018  2022           2 : 3 : 3 : 4 : 5 ,  2018  
2022        ()         

 If ratio of total persons in all the given years from 2018 to 2022 is 2 : 3 : 3 : 4 : 5, then 
find the ratio of total Indians in the Gulf over all the given years from 2018 to 2022. 

  23 : 27 : 21 : 22 : 20  

(. 91-95) :              : 

                
(Q. 91-95) : Study the data carefully and answer the questions given below : 

The table shows the items sold by a shopkeeper and their prices and profit. 

/ 
Item 

 / 

Cost Price  

%/ 

Profit%  

/ 

Discount 

/Bag 230 10% 48 

/Shirt 320 15% 96 

/Eye-

Glasses 

200 25% 35 

/Pant 450 12% 72 

/Book 140 20% 14 

 

91.   1 , 2   1         5%   ,  
       

 Sneha purchased 1 Shirt, 2 Bags and 1 Pant and shopkeeper gave 5% additional discount on 
the marked price, find the approximate total profit of the shopkeeper. 

  65.9 
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92.               ? 
 Marked price of Eye-glass is approximately how much percent more than the marked 

price of Book ? 
  56.59% 

93.           30%     35%   25% 
   ,      ? 

 If the cost price of the Ring is 30% more than the cost price of Shirt and the shopkeeper wants 
to earn 25% after giving 35% discount so what will be the marked price ? 

  ` 800 

94.      2 , 3 , 2   1        
  ? 

 The shopkeeper sold 2 Shirts, 3 Eye-glasses, 2 Pants and 1 Book to a customer. What is his 
approximate average profit ? 

  ` 47.75 

95.               ? 
 What is the ratio of the discount percent of the Eye-glasses and Book sold by 

shopkeeper ? 
  91 : 57 

(. 96-100) :             2015-16  2020-
21     P, Q, R  S    (`  )     ( =   – 
 ) 
(Q. 96-100) : The questions are based on the following table chart which represents the 
advertisement expenditure (in ` crores) of a trading company from 2015-16 to 2020-21 on 
four of its products P, Q, R and S. (Profit = Sales – Advertising expenditure) 

/Year P Q R S 

2015-16 50 75 50 25 
2016-17 25 75 50 25 
2017-18 50 50 75 25 
2018-19 75 25 0 25 
2019-20 50 75 50 50 
2020-21 75 50 100 25 

         : 
Sales for given years are as follows : 

2015-16 ` 300  / crores 

2016-17 ` 450  / crores 

2017-18 ` 500  / crores 

2018-19 ` 150  / crores 

2019-20 ` 600  / crores 

2020-21 ` 700  / crores 
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96.     Q     ,         20%  ?

In which year the product Q’s profit is the highest, if its sales form 20% of the total

sales every year ?

2020-21 

97.    ,  S    P  R         

      ?

Among the given years, the advertising expenditure of product S as a percentage of the

advertising expenditure of P and R together is least in

2020-21 

98.   2020-21   P, Q, R  S     2 : 5 : 1 : 2 ,  S    

Q        ?

If the ratio of sales of the products P, Q, R and S in the year 2020-21 is 2 : 5 : 1 : 2, then

the profit of S is approximately what percentage of the profit of Q in the same year ?

38.33% 

99. 2021-22     30%    2021-22         , 

  2019-20  2020-21        2021-22     

 ?

` 212.225  

In 2021-22, the sales of the company decreases by 30%. Total advertising expenses for 2021-

22 grow at the same rate as they did from the total advertising expenses 2019-20 to 2020-21. 

What is the approximate profit for 2021-22 ? 

` 212.225 crores

100.   2016-17             2020-21   

          ,          ?

If the advertising expenditure for all the products in the year 2016-17 is halved and that in

2020-21 is doubled and for the other years it remains the same, then during which year the

profit is the highest ?

2019-20 
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